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T -1/ PART -1

[3]

[A]

91 fa 9 [3Ensme/CHILD DEVELOPMENT AND PEDAGOGY
3% : =it goal & Gav 37 & [ qae afEd ey g

Direction : Answer the following questions by selecting the most appropriate option.

1.

frfofag & § F9-91 TEHA F TF
T T8 %7

(1) uRfw feemy ong

(2) TiT Fer

3) ‘RE 4 =’ a1y

4) FRIE sg/ed oy

F T e TR TR 71 e 8 7
(1) 209 25 (2) 209 S
(3) 259 36 4) 369 51

frefofeg & @ @9-a@  faew
TG & SBpT & oFFid 78
T ® ?

(1) 9EIE &9 § 999 dR Jds &
ZFER & HiET

(2) gEioTs ®1 § |G G @
Al

(3) IS AT @l e
(4) BT TTER

g% # ThH THR S FEROCE b,
Tole, T S B U Sm ®,
e & ?

(1) Tierhl i
(2) i g

(3) dfpeh-TMT i
(4) i gfs

Level-2/4202

1.

2.

Out of the following which is not the
other name of childhood ?

(1) Elementary school age
(2) Smart age

(3) Pre-gang age

(4) Gang age

What is the approximate I.Q. range of
'Mangolism' mentally retarded children ?

(1) 20to 25 (2) below 20
(3) 25to 36 4) 36to 51

Out of the following alternative which
does not come under processes in
socialization ?

€]

learning to behave in
approved ways

socially

2

playing approved social roles

3)
“)

development of social attitudes

egocentric behaviour

A type of intelligence which is mostly
visible in dancers, athletes, surgeons
etc., is known as what ?

(1) Bodily-kinesthetic intelligence
(2) Spatial intelligence
(3) Logical-mathematical intelligence

(4) Musical intelligence

P.T.O.
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[A]

Frr & @ @9-a1 daos g & a«
7 &

(1) S g

(2) STTCH-SARRET

(3) wgHf

(4) TGl P HEAIMAd B

s fErdl ge % g} 9N W 58 g«
S @, g, 9%, e IR & oM

W 0% T 9= e & AR 9y |
S TR & A B F FEl A 5 7

(1) GARTHH Grg=T
(2) AR g

(3) FEEFYEE G
(4) WemRIfe G

Frfofed & & aF-a1 aHes A=
g wheT 78 B ?

(1) STt ster qeror

(2) STt STEHl qETT

(3) farern e

(4) T\ MR A

SIS & S & AgaR W

A Rae 99 & 5 aRRafae 7=
% e & ?

(1) HrEshicr=t
(2) BB
(3) Ha=
(4) TEEIa=

Level-2/4202

[4]

Which of the following is not an
element of emotional intelligence ?

(1) Entrepreneurial competence

(2) Self-motivation

(3) Empathy

(4) Handling relationships

A student learns new concepts such as
'Carnivorous animal' on the basis of
words known by him such as tiger, dog,

lion, leopard etc. This type of learning
is known as what ?

(1) Combinational learning

(2) Subordinate learning

(3) Correlative learning

(4) Superordinate learning

Out of the following which is not the

type of group non-verbal intelligence
test ?

(1) Army Beta test

(2) Army Alpha test

(3) Chicago test

(4) Revence progressive matrices
According to Bronfrenbrener, law and

customs are examples of which of the
following ecological system of child ?

(1) Micro system
(2) Macro system
(3) Meso system

(4) Exo system
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9. FEAT & IR ‘i EE @ @
T oEen d w8 AR st
A B TN F vl G
T AfcepaT 1 BF-T1 ST el TN R 7

(1) AT & @ R &R
(2) Sferpa B IFREE X

(3) SferpdT &1 999 IERE WX
(4) Sfepar & W IREE &)

10. T STURTE H1 BRI 78 & :
(1) R aw

(2) st

(3) ST

(4) e =R e

1. F=fofeg & & 9w 99w 9
afead 78 ® 7

(1) SeTane

() i

(3) F@

(4) 9 e

12. fr=fafed & @ d9-a1 e 9 e

frQear it gt & °

(1) S== § ‘GROT-99E T’ o ‘a8]
®» W@ e fEr fJetd
BT

() 9% ¥ @ & MSid B oaw
HE1, dMehed [amd &1 Jehe BN

(3) SITH oYY URAST H Hidae @9 §
T ST YT 8 |

(4) e farl & A aew a9m 8
e B

Level-2/4202

[5]

10.

11.

12,

[A]

According to Kohlberg "a stage of
development during which
individuals judge morality largely in
terms of existing social norms or rules"
is known as which level of morality ?

moral

(1) preconventional level of morality
(2) conventional level of morality
(3) postconventional level of morality

(4) unconventional level of morality

Which is not the cause of delinquency ?
(1) Physical defect

(2) Poverty

(3) Failure

(4) Proper home environment

Out of the following which is not
related with 'Cognition' ?

(1) Perception

(2) Thinking

(3) Walking

(4) Concept formation

Out of the following which alternative

shows characteristics of "Concrete

Operational Stage" given by Jean Piaget ?
(1) Development of idea of 'cause-

effect relationship' 'object
permanence’ in children.

and
(2) The child gains understanding of
principles
logical thought emerges.

such as conservation

(3) The child begins to represent the
world symbolically.

Becomes

“)

capable of creating
several forms of logical thought.

P.T.O.
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[A]

13.

14.

15.

16.

17.

HF-AT SARBRT HT 9% 78 o 7

(1) STEFeat  (2) eagh
(3) I (4) Hiams

i FHES H U fafy ?

(1) Me=

(2) &9

(3) AT
(4) -

RN e CEAC: B k| MRS N C?
e’ @t fhae awartaa e ?

(1) stH =

(2) 9 AN

(3) o THo TN

(4) BT

‘T gETS B [HAdl [ HHRD
G § FaRyd & F FEAT 2 7

(1) TR
(2) FHIISEHT
(3) TIAABIT

(4) 9red

oM ™ % damee e & R

WS H AT F -

(1) & R % A & ©N oo
T RAT BN

(2) F® o B % 9fd 99 T we
foepierd @] |

(3) & U T #H WRA B AT |
U9 1 99 T9EH |

4) A %\ FHar Bl & U e
01 e & |

Level-2/4202

[6]

13.

14.

15.

16.

17.

Which is
motivation ?
(1) Needs
(3) Drives

not the component of

(2) Rote Memory

(4) Incentives

Direct method of personality adjustment
is:

(1) Sublimation

(2) Projection

(3) Regression

(4) Removing of hurdles

Who proposed "Sociocultural Theory"
of cognitive development ?

(1) Jean Piaget
(2) Lev Vygotsky
(3) I.S. Bruner
(4) Kohlberg

"Incorporation of new information into
existing mental frame works" is known
as what ?

(1) Assimilation
(2) Accommodation
(3) Equilibration
(4) Organisation

For the emotional development of his

pupil the teacher should :

(1) Try to usurp the place of pupil's
parents.

(2) Develop love and affection for his
pupil.

(3) Take a loveable attitude towards
the mischief of the pupil.

(4) Show favours
pupils.

to few selected
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18.

19.

20.

21,

22,

I SIS T B T & 7

(1) 28 6 a9

(2) 68 12 T

(3) 48 7

4) 119 15 a9

Tqo Elo GTF&;O SRR el ® Jads
P g ?

(1) g

(2) feermé

(3) =R Td S

4) A=l

6T BN g & U R g=m @
AT foRar T e ?

(1) ST qF &Har

(2) AEAfE AR ST

(3) T HHRE &Had

(4) I=9 AT &

frfofeg & @ em-d@ foflfwes @

et & oelEcdeedfRe T @
TIa g R ST "eRan ?

(1) AMINTG P
(2) ¥R o g

(3) GoICEe IS
(4) e faw
R MG e U T I S |
e & @ E ?
(1) e
(3) UETAfSll

(2) FHed
4) g<

Level-2/4202

[7]

18.

19.

20.

21,

22,

[A]

What is the age group of late childhood
stage ?

(1) 2to 6 years
(2) 6to 12 years
(3) 4to 7 years
(4) 11to 15 years

Who was the propounder of N. D. L
motivation formula ?

(1) McDougall
(2) Hilgard

(3) Blair and Jones
(4) Maslow

Which word was used by Thurstone for
'intelligence' ?

(1) Primary Mental Abilities

(2) Universal Mental Abilities

(3) Neutral Mental Abilities

(4) Higher Mental Abilities

Out of the following which activity/area

may not be considered as co-scholastic
aspect of learner ?

(1) Social skill

(2) Attitude and values

(3) Creative skill

(4) Curricular subjects

The first psychological laboratory was
established by whom ?

(1) Galton (2) Cattell

(3) Pestalozzi (4) Wundt

P.T.O.
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[A]

23.

24.

25.

26.

‘IR B JE GEE 6 IR 9 fRAl o
d, @ oFf ST @I # T T S
IR Dl T THR B TN B FT Bal
ST 8 7

(1) o7 Team
(2) fefm Reran
(3) fefwr Eeran
(4) fom wigsmsa

ferdft & affa & @@ faew @
e [h8 T H Tedih FHoadl © ¢

(1) | g

(2) G e
(3) ST (1) T (2) A

(4) W (1) T (2) & FE
Fret & @ Si9-d e g 78 8 7

(1) dEr

(2) @y

(3) NI T9e

(4) qregd

‘Sfc | fF@ & M & 9% ARas 9

NFd & I FE [T sae @i
ferear ® ?

(1) HaE-THeh SFere

(2) Yd HfihaTH S

(3) o GRS e

(4) =R HhareT e

Level-2/4202

[8]

23.

24.

25.

26.

"Children's
gender will not change even if they
adopt the behaviour, dress, or hairstyles
of the other gender". This type of
children's understanding is known as
what ?

understanding that their

(1) Gender identity
(2) Gender stability
(3) Gender consistency

(4) Gender stereotypes

Assessment of all-round development
of the child's personality is known as
which type of evaluation ?

(1) Continuous evaluation

(2) Comprehensive evaluation

(3) Above (1) and (2) both

(4) Neither (1) nor (2) above

Which of the following is not a defence
mechanism ?

(1) Identification

(2) Compensation

(3) Rationalisation

(4) Association

'‘Out  of

characteristic of which of the following
developmental stage ?

sight out of mind is

(1) Sensory-motor stage
(2) Pre operational stage
(3) Concrete operational stage

(4) Formal operational stage
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[9] [A]

27. FM H I8 TER Fred faEel & . 27. A type of learning in which students try
S Al @ e § T AR A to learn by emerging new rule through
T FEm @ e gl e @ aE given learning material, is known as
FIAT &, B T F_A § 7 what ?
(1) TEH GrE (1) Rote learning
2) Cﬂ?ﬁl"f IieRll (2) Meaningful learning
(3) STHIRYT HieT (3) Reception learning
(4) STV GREAT (4) Discovery learning

28. fy=ifafed & ¥ F9-&1 3O &N e 28. Out of the following which is fourth
JoATHD &YX RS @ A TR ? level of Taylor's level theory of

creativity ?

(1) ATeEH SN NIRED (1) Expressive creativity
(2) IUESH FoI-HD (2) Productive creativity
(3) AT GIHD (3) Innovative creativity
(4) ST BENIRED (4) Inventive creativity

29, frfofad & d-ar fhaivaen & o= 29. Out of the following which is not the
T 78§07 other name of Adolescence ?
(1) STEER qar WeEen & s & (1) Transitional period of childhood

et and adulthood

(2) HYHS ATHT (2) Problem age
3) ’\TEFST, SRICASEIRCREC R CE| (3) Stage of stress, strain and storm
4) ?ﬁﬁ 3Ty (4) Smart age

30. OB TURISH @l faQwar ® ¢ 30. Characteristic of good adjustment is :
(D) LEREIGKI (1) Tolerance
(2) ATHGIEE T i (2) Lack of confidence
(3) HammeT STferar (3) Emotional unstability
(4) St feweat (4) Irregular life habit

Level-2/4202 P.T.O.
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[A]

ArT- 11/ PART - I

[10]

A1 (R=T @ 3fISH) / LANGUAGES (HINDI & ENGLISH)

[ =<t/ HINDI ]

31 : =it goal & Gav 37 & [ qae afEd ey g

31.

32.

33.

AT B G O T B - I
HRE B ISR 8 7

(1) FHBH
(2) Gd9 FRD
(3) EYEN FHRb

(4) SAYHT FH

it gie § AYS fGehed JHm
(1) o

(2) SfeTasm

(3) geargarE
(4) W

STy & e § ogfem fawe
BT :
(1) TSt

(2) dR-AARA

(3) dre-4ifee

(4) a9i-uIes

Level-2/4202

34.

35.

36.

37.

Tg & 3T | ST [9eed Jaisy ¢

(1) FERT + 39 = fGEreia

(2) 3 +TA = T=HA

(3) T + T =T

(4) TG +3 = qriiih

=1 4 4 g et d ‘@W 9= &
faofiar s fear e ® 2

(1) ™ & ‘@ @ = |

(2) S IEF ‘FH G G |

(3) ‘@ & 9 U % |

4) ‘T AT & I T

fra faees § g8 9 # SIE T8
g7
(1) qeamed

(2) FTA
(3) BERET

(4) SfErargre

foeim @ gfte & 39 @ BifeT ¢
(1) -3

(2) TA-STIAX

(3) Ufessh-Jfrard

(4) T-go
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38. e faehey ® ‘o IUEH H YA g

39.

40.

41.

g7

(1) SAraf~ieh
(2) afereA
(3) AT
(4) ST

o amm & ‘omem’ (faemed) afq @
SERT g © 7

(1) A OFR Fed ar § Tar sex H |

(2) 99 B SN H AEGT @A
MRy |

(3) Tl & =Ry {6 98 ¥ * T
i B T R

(4) ¥ arear § f6 g W 6 )
qEEErE @ gt § o e gy ¢
(1) el — S, fas, TR

(2) 9T — FOW, JUW, I

(3) AT — IA=TE, H, A

(4) BROT — FH{, <, qRT

‘Areared’ are faeed gy

(1) A R el G TR |

(2) THS § A9 Tewn o 2
(3) 9T &N 41 SWE 8ISl M|
(4) et = 96 AT

[11]

42,

43.

44,

45.

[A]

fore a@ # ‘FaRT @ SRR gaT © °

(1) T A 9 REwX & @9 ® 2|

(2) FHaar ot Rl s W@ R

(3) TH A &Y A & B |

@) ¥ 9 97 & I TeEE 7
3T T

fpe famea # fowrt @fr @1 @ 7@
g E 7
(1) T
2) Rrer
(3) Eicda

(4) 9g

‘THe | IR Y g - a9 § UgE
fopaT-fager @1 9% 3F@ Ff -

(1) YRETErES

(2) HIArED

(3) ifcrares

(4) A=

Thee § SgaeH oW foedl § ot
I
(1) S St

(2) agage
(3) TG-St
(4) -t

Level-2/4202

P.T.O.
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[A]

[12]

[ 37350 / ENGLISH ]

Direction : Answer the following questions by selecting the most appropriate option.

46.

47.

48.

49.

50.

Choose the correct synonym for the
word given below :

Gallant
(2) Impolite
(4) Fearful

(1) Valiant
(3) Rude

Choose the correct modal.

Some people .............. ski better than
others.

(1) must (2) can

(3) could (4) should

Fill in the blank with appropriate
preposition.

Ipaid thebill .............. cash.
(1) in (2) at
(3) for (4) with

Choose the correct word for the sentence.
A man who 1s womanish in his habits.

(1) Arsonist

(2) Epicure

(3) Effeminate

(4) Fealty

Choose the correct antonym for the

word given below :
Bankrupt

(1) Penniless

(2) Insolvent

(3) Ruined

(4) Solvent

Level-2/4202

51.

52.

Fill in the blank with the correct
option :

doing the cooking, I look
after the garden.

(1) Beside
(2) However
(3) Besides
(4) Therefore

Choose the most appropriate form of

Indirect speech for the given sentence.

The teacher said to Hari, "Why did you

not do your homework yesterday" ?

(1) The teacher asked Hari why had he
his the

previous day ?

not done homework

(2) The teacher asked Hari why he had
his the

previous day ?

not done homework

(3) The teacher said to Hari why had
he not done their homework the

previous day ?

The teacher said Hari that he had
his the

“)

not done homework

previous day.

Download from www.MsEducationTv.com



53.

54.

55.

Choose the correct passive construction
for the sentence given.

We visited the zoo of Jaipur on last
Sunday.

(1) Zoo of Jaipur were visited by us on
last Sunday.

(2) On last Sunday the zoo of Jaipur
was visited by us.

(3) We were visited the zoo of Jaipur
on last Sunday.

(4) Zoo of Jaipur was being visited on
Sunday last by us.

Cooking is his hobby.

The underlined word is used as a :
(1) Verb

(2) Gerund

(3) Participle

(4) Infinitive

Choose the correct determiner.

................ knowledge is a dangerous

[13]

57.

58.

59.

[A]

Fill in the blank by choosing the correct
option.

The Headmaster and the Secretary
................ present in the meeting.
(1) was (2) were

(3) was being (4) were being

Choose the correct form of verb.

Did you not ................ about the
world Atlas.

(1) knew (2) known

(3) know (4) knows

Choose the correct option for the

underline word.

Our parents have raised us to be a good

citizen.
(1) Brought up

(2) Brought by

thing
) ) (3) Brought out
(1) The little (2) Little
(4) Brought down
(3) Alittle (4) The few
60. Ch th d which i It
56. Choose the correct preposition. pose. Hhe Word WhIER 18 5pe
correctly.
I had not slept or eaten anything (1) Commited
properly ................ two days.
(2) Committed
(1) since (2) from (3) Comitteed
(3) in (4) for (4) Committeed
Level-2/4202 P.T.O.
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[A]

[14]

HET -1/ PART -1l
Y AT/ GENERAL STUDIES

[ A ARG, dliche SARTEHCT R | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]
& : [t gea & gav &7 & frg qaw o [AEe g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

64.

=T e & g &

WE, SG, PJ, LN, IS, ?
(2) FX
4) EX

1) FZ
(3) EY

5 e L A = A1 | Rl o L

DHL, PTX, BFJ, .....
(1) CCGK (2) KOS
(3) NRV 4) OVZ

Th HE P oEe 8,500 B, I ved
af @ 20% g EE, R o wEd
25% gi& g, 1 & 99 9
sWee et B ?

1) 10,950
2) 12,750
(3) 11,950
4) 12,550

18,000 99 W 2 a4 & 10% dqM® &
q Thgle &A1 g HIERT A P I
1 B 7

(1) 150 &9
(2) 180 &1
(3) 210 Q)
4) 316 9

Level-2/4202

61.

62.

63.

64.

Complete the following Series :
WE, SG, PJ, LN, IS, ?
(2) FX
4) EX

1) FZ
(3) EY

Find the next term of the following
letter series :

DHL, PTX, BFYJ, .....
(1) CGK (2) KOS
(3) NRV 4) OVZ

The population of a town is 8,500. In
first year it was increased by 20% and
in second year again increased by 25%,
then what is the total population after
two years ?

(1) 10,950
2) 12,750
(3) 11,950
“) 12,550

What is the
Compound interest and Simple interest
on the amount of Rs. 18,000 in 2 years
with the rate of 10% per year ?

(1) Rs. 150
(2) Rs. 180
(3) Rs.210
4) Rs.316

difference  between



65.

66.

67.

68.

14,500 U3 HERO &N W 6 a9
21,460 B9 & S B, ST @ i
™ E?

Ll
T

(1) 4%
2) 10%
(3) 6%
4) 8%
T BEER @d & e A 20
Mex, 21 WeX a9r 29 HieX §, 39 @d W

15 593 gferat HieX # X 9 BOd dled
H G H BT ?

(1) 2,100 9
() 1,890 593
(3) 3,150 593
(4) 2,500 B9
% fbe 09 ¥, 6 faaredl @ ofed
e 36 | A 3 | uw Raaer |

16 ™ T9T &, @ 99 Reenisd
ld @ ge fha & ?

1) 24

@) 30

3) 36

4) 40

i Ee @ O Y
24, 60, 120, 210, ?

(1) 336

2) 270

3) 512

) 500

Level-2/4202

[15]

65.

66.

67.

68.

[A]

The total amount of Rs. 14,500 with
simple interest in 6 years is Rs. 21,460,
find out the Rate of interest per
annum ?

1) 4%

2) 10%

(3) 6%

4) 8%

The sides of a triangular farm are 20 m,
21 m and 29 m respectively. How much

will be total expenses for cutting the crop
at the rate of Rs. 15 per square meter ?

(1) Rs. 2,100
(2) Rs. 1,890
(3) Rs. 3,150
(4) Rs. 2,500
Average runs of 6 players in a cricket
match was 36. If one player made 16

runs, then what is the average runs of
remaining players ?

1) 24
2) 30
3) 36
4) 40

Complete the following series :
24, 60, 120, 210, ?

1) 336
2) 270
3) 512
4) 500

P.T.O.
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[A]

69.

70.

71.

72.

73.

Th qH TU1 Th HN B A B AT
6 :7%, 3 FX 4 H T 364 ol A
g T B, A 9 H A A A

(1) 60 fFHi/geT
(2) 72 FRHIEeT
(3) 78 fpHI/ger
(4) 84t/

fhdl Tidlde 9 § GRANT @
UOBSH %8l 9T, TIME & FNJU &l
S, @ PRIDE &I #91 %8l S ?

(1) QSJEF
(2) OQHCD
(3) FEISQ
(4) TPMED

q et & AgAd 30 S T, T S
ATHT 240 B, TS H A F
g ?

1) 60
(3) 120

(2) 100

4) 90

fpell d&m & 60% @ 3/5 Ak 36 &, @
de & A 1 B ?

(1) 60

(2) 100

(3) 120

4) 150

gt DRIVER = 12, PEDESTRIAN = 20,
ACCIDENT = 16, @ CAR =?

(1 3 2) 6

(3) 8 4) 16

Level-2/4202

69.

70.

71.

72.

73.

The ratio of speeds, of a Bus and Car is
6 : 7. If car covers 364 Km distance in
4 hours, what is the speed of Bus ?

(1) 60 Km/h
(2) 72 Km/h
(3) 78 Km/h
(4) 84 Km/h

In a code language GRANT is written
as UOBSH, TIME is written as FNJU
how is PRIDE written in that language ?

(1) QSJEF
(2) OQHCD
(3) FEISQ
(4) TPMED

The ratio of two numbers are 3 : 5 and
the addition of those numbers is 240,

what 1s the difference of those
numbers ?

(1) 60 (2) 100

3) 120 4 90

If 3/5 of 60% of a Number is 36, then
the value of the number is :

(1) 60

(2) 100

(3) 120

4) 150

If DRIVER = 12, PEDESTRIAN = 20,
ACCIDENT = 16, then CAR = ?

1 3 (2) 6

3) 8 4) 16

Download from www.MsEducationTv.com



74.

75.

76.

77.

A T B e} feet & @ 15 &9 |
T H &, JTaie B owhar 39 20 R
T g HAT B, A Tl 39 HH H
fpee & ® @ @ ?

(1) 60 (2) 45

(3) 40 4) 30

qeH W TH U H ofNa s BR |
168 @M W @l 2| fawm o 8R) @
18F M W 81 MU e & T& iR
117 &N W 3, oiX foa ¥ @ 8}
F AN G WE W gl 39 U H
fre @e% @S gL E 7

(1) 41

2) 42

(3) 48

4) 49
frfafed & @ H9-a1 o7 af 7 ?

(1) 1800

(2) 1900

(3) 1700

4) 2000

fpell Widicd W F "go home" H "ta
na" %8 ST "sweet home" & "na ja"
Fel ST TG "Sweet and Sour" & "pa sa
ja" FEl ST, @ "Sour” H HIE FT BN 7

(1) pa
(2) sa
3)
“4)

padl sa

na

Level-2/4202

[17]

74.

75.

76.

77.

[A]

A and B together can do a work in 15
days, if B alone can do that work in 20
days. Then how many days will A take
to do same work alone ?

(1) 60 (2) 45

(3) 40 4) 30

Anil is standing at 16th position from
the left end in a row of boys. Vikas is at
18th position from the right end. Gopal
is 11th from Anil towards the right and
3rd from Vikas towards the right end.
How many boys are standing in this
row ?

(1) 41
(2) 42
(3) 48
4) 49

Which of the following is a leap year ?
(1) 1800

(2) 1900

(3) 1700

(4) 2000

In a certain code language "go home" is
written as "ta na", "sweet home" is
written as "na ja", "Sweet and Sour" is

written as "pa sa ja", then how "Sour" is
coded as ?

(1) pa
(2) sa
3)
4

paor sa

na

P.T.O.
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79.

80.

81.

qA AT IO FEAET § STH-9T0H 8
3 A @ a9 ¥ veam o S
fesm # 8 foHfl, oo qENT R @ R
§ 6l @ g0 T Eh -3 W
Tgd S E, a1 AN @tk & W@
et g0 fea & 7

(1) 10 fd

) 12 feh

(3) 14 feh

4) 15 feh

7 :20 e W o1 & 91 @ G B

g3 & = A e & T = ?
1) 160°

(2) 100°

(3) 260°

) 120°

Y ™ PN B ER W HEl TN
|1 B ?

BT

(A) g T 5@ ¥

(B) FB TS @M £ |

=y :

(1) %8 T g 2 |

(2) %P WM 7 T T

(3) i qmEr I T B

(4) FB 9 ™ 2|

Hie TR RS ®

(1) Cfcerée 3w & fo
(2) Ui 7ed & faq
(3) ™ I & W B fqC
4) T & fom

Level-2/4202

78.

79.

80.

81.

Two persons depart from their office
towards their houses. First person goes
8 Km in north direction and second
person goes 6 Km in East direction and
reach their houses, find out the direct
distance of their Houses ?

(1) 10 Km
2) 12 Km
(3) 14 Km
4 15 Km

What will be the angle between minute
end and hour end in a Clock at 7 : 20 ?

1) 160°
(2) 100°
(3) 260°
@) 120°

Which is the correct conclusion based
on given statements ?

Statement :

(A) All leaves are roots.

(B) Some roots are branches.
Conclusion :

(1) Some leaves are branches.
(2) Some branches are not roots.
(3) No branch is leaf.

(4) Some roots are leaves.

Sohna town is famous for :
(1) Historical Lake

(2) Historical Palace

(3) Hot water Springs

(4) Gardens
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82.

83.

84.

85.

86.

g & fw gsmEte Hew (W)
g7

(1) IR

(2) U=

3)

(4) €@

g & T U9y ®
(1) 71 1

(2) R Rig

(3) e

4) 9™

ya e ¥ ol 3 foew #R fEE
fepar o ?

(1) J&d®

() g

(3) s

4) T

A9 HEX 3feee FA1 © 7

(1) &g
(2) ¥

(3) dreEr
(4) FAMR

ghaen § I JEren-ae gerel i’
H Sic TIGET BT ¢ 7

(1) g AR
(2) Wl A
(3) HET Aa
(4) GE ea

Level-2/4202

[19]

82.

83.

84.

85.

86.

[A]

How many Administrative divisions are
there in Haryana ?

(1) Four
(2) Five
3) Six

(4) Seven

State animal of Haryana is :
(1) Black buck

(2) Asiatic Lion

(3) Chinkara

(4) Tiger

Where Pratap Singh revolted against the
British ?

(1) Rohtak

(2) Jind

(3) Ambala

(4) Sirsa

Where is the National Cancer Institute
situated ?

(1) Sampla
(2) Meham
(3) Badsa

(4) Kalanaur

Who is the brand ambassador of 'Beti
Bachao-Beti Padhao Campaign' in
Haryana ?

(1) Anu Kumari

(2) Sakshi Malik
(3) Kalpna Chawala
(4) Saina Nehwal

P.T.O.
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[A]

87.

88.

89.

90.

forem St gk ol & |1 G A e
A & -

(1) 9HIad
(2) T
(3)
(4) weEd

S I B R | O R R 4 R
g S R

(1) g
(2) T
(3) Hfes
(4) 9REHE

BRI H EY, o TS (o &6
1 feea 7R ¢

(1) ToIam
(2) AT
(3) HlEER
4) fear

TEIM R O 6 @ defa © 7

(1) 9 &9
(2) ETEE
(3) TR
(4) U

[20]

87.

88.

89.

90.

The district which does not share
boundary with other states is :

(1) Panipat

(2) Rohtak

(3) Rewari

(4) Palwal

The river, which makes border between
Haryana and Uttar Pradesh :

(1) Yamuna

(2) Ganga

(3) Sahibi

(4) Markanda

The city of Haryana, which is not part
of National Capital Region :

(1) Gurugram

(2) Sonipat

(3) Faridabad

(4) Hisar

Gurugram is related to which ancient
Guru ?

(1) Ved Vyas

(2) Dronacharya

(3) Parashuram

(4) Kripacharya

Level-2/4202
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[21]

[A]

AT - IV / PART - IV

JUsh / ENGLISH

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

93.

94.

In poetry and prose, the repetition of

consonants is called ........... .
(1) Pun
(3) Alliteration

(2) Irony
(4) Accent

Which one of the following is not a

nasal consonant ?
(1) m
2) n
3) N
“4) k

A story often with animals as
characters, that conveys a moral is

called ........... .
(1) Fable

(2) Epic

(3) Ballad

(4) Novel

Choose the word with the correct

accent :
(1) ability (2) abili'ty

(3) ‘ability (4) ability’

Level-2/4202

95.

96.

What is stored in the hump of the

camel ?
(1) Water
(2) Fat
3) Oil
(4) Salt

Match the following phrasal verbs

in Column-A with the blanks in

Column-B :

Column-A Column-B
i.  Breakin a. He.... the box
ii. Took off b. Aplane...... .

iii. Clearaway c¢. If the door is

locked, T will try

to...... .

iv. Handed over d. Tl help you ......

the dishes.
(1) i-c,1ii-b, iii-d, iv-a
(2) 1i-d, ii-a, iii-b, iv-c
(3) i-a, ii-b, iii-c, iv-d
(4) 1i-d, ii-b, iii-d, iv-c

P.T.O.
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[A]

97. "This made Taro sadder than ever"

"This' refers to :
(1) A strong wind that began to blow
(2) Taro's father's old age

(3) Taro's inability to buy expensive

sake for his father

(4) To purchase a new house

98. Where was Kalpana Chawla born ?
(1) Noida, New Delhi

(2) Karnal, Haryana

(3) Sikar, Rajasthan

(4) Madurai, Tamil Nadu

99. Identify the initial consonant in the

following words : Chin, Chat, Chest.
(D

(2) dz

3) k

“4) ¢

100. Choose the correct alternative for the

following sentence :

He must stop smoking.

(1) Smoking must be stopped by him.
(2) Smoking stopped by him.

(3) Smoking was stopped by order.

(4) Smoking should be stopped by him.

Level-2/4202

[22]

Read the passage and answer the questions
from 101-103 :

Those responsible for teaching young people
have resorted in different periods of history, to
a variety of means for making their pupils
learn. The earliest of these was the threat of
punishment, which meant that the pupil who
was slow, careless or inattentive risked either
physical chastisement or the loss of some
expected privilege or treat. Learning was thus,
to some extent, associated with fear,
particularly in the minds of those who found

certain subjects hard to master.

At a later period, pupils were encouraged
to learn in the hope of some kind of reward.
This after took the form of marks awarded
daily or weekly for work done, and sometimes
of prizes given at the end of each year to best
scholars. Such a system appealed to the
competitive spirit, but it often had just as
depressing an effect as the older system of
punishment on the slow but willing pupil.

The two systems suggest that teachers felt
that their pupil had to be either compelled or
bribed to learn. In the nineteenth century,
however, there sprang up a different type of
teacher, passionately convinced that learning
was worth while for its own sake, and that the
young learner's principal stimulus should be
neither anxiety to avoid a penalty nor ambition
to win a reward, but sheer desire to learn.
These teachers used their best endeavours to
render the process of learning pleasant and
where this was not possible, to show that hard

Download from www.MsEducationTv.com



plodding would yield results of practical value

to the learner. Interest, direct or indirect
became the keyword of instruction, and so it

has remained.

The earlier methods, however, though now

practised less frequently, have not been

completely abandoned. If you walk into a
modern classroom that contains all the most
up-to-date equipment, you may observe a
highly trained teacher inspiring boys and girls
with his own enthusiasm for his subject yet
you will probably find that he awards marks
for the work done by his pupils, and you will
certainly find that the careless or inattentive
pupil is liable to be punished.

101. The earliest method of making pupils

learn was through :

(I) Love

(2) Threat of punishment
(3) Repetition

(4) Rote

102. In which century, did the 'type of

teacher generate' that said learning was

worthwhile for its own sake ?
(1) 20th century

(2) 19th century

(3) 5th century

(4) 18th century

Level-2/4202

[23]

[A]
103. What does the word 'Encourage’ mean ?
(1) To motivate; to mentally support
(2) Tokill
(3) To snub

(4) To ask favour

104. Choose the correct passive of the

sentence :
He looked after the children well.
(1) The children were looked well.

The children were well looked

2)
after.
The children were treated well.

3)

Well looked after the children

“)

WwEre.

105. Which of the following word does not

take 'ies' to form a plural ?
(1) family

(2) valley

(3) responsibility

(4) beauty

P.T.O.
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[A]

106.

107.

108.

109.

Choose the

transcription of the word 'School' :

correct phonetic

(1) Skul ) Sko:l

(3) Ckol 4) Sneiul

Choose the right alternative to fill in the
blank :

the book, I returned it to the

library.

(1) Reading

(2) Having Read

(3) Will Read

(4) Read

Identify the underlined word in the
given sentence :

Children love making mud castles.
(1) Participle

(2) Noun

(3) Gerund

(4) Adjective

Which of the following sentences has a

gerund phrase :
(1
(2)

She enjoys playing tennis

The children come running to meet

us
3)
“4)

We soon got talking

She sat smiling at me

Level-2/4202

[24]

110.

111.

112,

Choose the correct spelling :
(1) Icconoclastic

(2) Icoonoclaastic

(3) Icconoclastic

(4) Iconoclastic

Fill in the blank with suitable
determiners :

Could I have ........ cup of coffee ?

(1) other

(2) another
(3) many

@) few

Insert the appropriate modal in the
blank :

not ask for more money

now. (Prohibition)

ey

must
(2) might
would

3)

need not

“)
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[25] [A]

113. Who's the writer of the book 'A Brief 117. The poem 'The Road Not Taken' was
History of Time' ? written by ............. .
(1) M. K. Gandhi (I) Robert Frost

(2) Firdaus Kanga (2) John Milton

3) P.B. Shell

(3) Abdul Kalam 3) elley
(4) W.B. Yeats
(4) Stephen Hawking

114. Fill in the blank with the correct phrasal 118. Put the verb in brackets in the correct

tense :
verb :

I was very tired this morning. I could I (lose) my pen, please help me find it.

not........ . (1) have lost
(1) getonin (2) getby (2) did lost
(3) getup (4) getround (3) will lose
(4) loose
115. A person who loves books is called
a....... .
119. "Everything Suddenly looked black."
(1) Philatelist Who said these words ?
(2) Numismatist (1) Ron Forbes
(3) Bibliophile (2) Evelyn Glennie

(4) Antiquarian (3) Anne Richlin

(4) Sarah Cowley
116. The poem 'The Last Bargain' is written

R ) 120. Choose the correct spelling :
(1) William Wordsworth (1) Dissiertation

(2) Keats (2) Dessertation

(3) Rabindranath Tagore (3) Dissertation

(4) Sarojini Naidu (4) Disertation

Level-2/4202 P.T.O.
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[A]

121.

122.

123.

Name the poet of the poem "Trees' from

the options given below :

(1) Jerome K. Jerome

(2) Muriel L. Stone

(3) Frank Flynn

(4) Shirley Bauer

What did Patrick think his cat was

playing with ?

(1) Alittle doll

(2) A mouse

(3) A piece of cloth

(4) A stick

Who's the poet of the poem 'where do

all the teachers go' ?

(1) Mary O' Neill

(2) Robert Lowell

(3) T.S. Eliot

(4) Peter Dixon

Level-2/4202

[26]

124.

125.

Match the phrases in Column-A with

their meaning in Column-B :

Column-A Column-B
(1) Setaside (a) begin & seem
likely to
continue

(i1) Set down (b)

save or keep for

a particular
purpose
(iii) Set out (c) write or record

(iv) Setin (d) startona

journey
(1) i-b, ii-c, iii-d, iv-a
(2) i-a,ii-b, iii-c, iv-d
i-c, ii-d, iii-a, iv-b

3)

i-d, ii-c, iii-a, iv-b

“)

Which hill station does the author
describe in the story 'A Short Monsoon

Diary' ?
(1) Nainital
(2) Shimla
(3) Leh

(4) Mussoorie
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126.

127.

128.

129.

Choose the antonym of the word

'Careless' :

(1) Careful

(2) Slow

(3) Timid

(4) Introvert

Choose the correct active voice of the
sentence given below :

My pocket has been picked.

(1) Someone has picked my pocket.

(2) Picked was my pocket.

(3) Do you know who picked my
pocket ?

(4) My pocket was picked.

"He Sat up straight to eat a nut
He liked to tease and play"

What does "He" refer to in the above

lines ?
(1) ACat (2) A Squirrel
(3) ABird (4) A Bee

Choose the correct past form of the verb

'Choose’ :
(1) Chosen
(2) Chose
(3) Choosed
(4) Choose

Level-2/4202

[27]

130.

131.

132.

133.

[A]

Identify the figure of speech in the

following lines :

Then soars like a ship with only a sail.
(1) Metaphor

(2) Simile

(3) Assonance

(4) Paradox

Identify the underlined clause in the
given sentence :

He says that he won't go.

(1) Adverb clause
(2) Adjective clause
(3) Prepositional clause

(4) Noun clause

We can ........... eat now ........... after the

show —it's up to you.
(1) neither — nor

(2) either —or

(3) alway —or

(4) either — not

Fill in the blank with the correct

adjective :

There is .......... hope of his recovery.
(1) any (2) every

(3) alittle 4) few

P.T.O.
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[A]

134.

135.

136.

The

Ahluwalia while

emotion that gripped Mr.

standing on the

summit of Everest was one of :

(1) Humility and a sense of smallness
(2) Victory over hurdles

(3) Joy of discovery

(4) Greatness and self importance

Choose the correct option to fill in the

blank in the given sentence :

When 1

memories

on the
of my childhood,

overcome by a wave of ............ .

reflect pleasant

I am

(1) nostalgia
(2) frustration
(3) enernation

(4) benevolence

In which year the atomic bomb was
dropped on Hiroshima and Nagasaki ?
(1) 1935

(2) 1945

(3) 1960

(4) 1947

Level-2/4202

[28]

137.

138.

139.

Who's the only woman in the world

who has scaled Mt. Everest twice ?
(1) Deborah Cowley

(2) Mithila

(3) Santosh Yadav

(4) Maria Sharapova

What is the one thing that the child does
not wish to become in the poem

'Vocation' ?
(1) Hawker
(2) Gardener
(3) Watchman

(4) Tailor

Fill in the blanks with the correct

option :

My friend lost his chemistry book. Now
he doesn't know ........ todoand ........ to

look for it.

€]

what, where

2)

where, what

3)

which, how

“4)

how, when
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140.

141.

142.

Match the phrasal verbs in Column-A

with their meaning in Column-B :

Column-A Column-B
(i) Look into (a) Admire;
respect
(i) Look upto (b) Be careful;
beware
(ii1) Look out (c) Despise
(iv) Lookdownon (d) Investigate

(1) i-d, ii-a, iii-b, iv-c
(2) i-a, ii-b, iii-c, iv-d
(3) i-c,ii-a, iii-d, iv-b

(4) 1-b, ii-a, iii-c, iv-d

If the rebel in the poem '"The Rebel' has
a dog for a pet, what is everyone else

likely to have ?
(1) An Elephant
(2) ACat

(3) A Tortoise
(4) ABird

A very large and powerful wave
caused by earthquake under the sea is
called ....... .

(1) Wave
(2) A tsunami
(3) Tremor
(4) Avalanche

Level-2/4202

[29]

143.

144.

145.

146.

[A]
Choose the incorrect use of the prefix —
Post :
(1) Postscript
(2) Postdate
(3) Postpone
(4) Posting

Fill in the blank with the correct option :

'Would you like milk in your coffee ?'

Yes, please ......... .
(1) afew (2) few
3) little (4) alittle

Identify the figure of speech in the

following sentence :

Curses are like chickens; they come

home to roost.

(1) Simile

(2) Anticlimax

(3) Assonance

(4) Allegory

Where does the snake disappear in the
poem, 'The Snake Trying' ?

(1) Among the woods

(2) In the garden

(3) In the ripples

(4) In the house

P.T.O.
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[A]

147.

148.

Identify the function of the underlined

word in the sentence :

They arrived soon after.
(1) Noun

(2) Adverb

(3) Adjective

(4) Gerund

Choose the correct plural of the noun

'dwarf" :

(1) Dwarves
(2) Dwarfes
(3) Dwaffers

(4) Dwarfees

[30]

149.

150.

Choose the correct option for the

underlined words :

They tried to find fault with us.

(1) Gerund

(2) Participle
(3) The Infinitive
(4) Verb

Choose the correct option of the

following sentence :

‘Bring me a glass of milk', said the
Swami to the villagers.

ey

The Swami asked the villagers to
bring him a glass of milk.

2)
3)

The Swami wanted a glass of milk.

The villagers offered milk to the
Swami.

(4) The Swami told the villagers to get

him a glass of milk.
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6. Answers to questions in answer sheet are to be given by

darkening complete circle using Black ball point pen as

shown below :
O @ ® @

The answer will be treated wrong, if it is marked, as given below :

©OR &>

If you fill more than one circle it will be treated as a wrong
answer.

10.

11. U=

12.

13.

14.

15.

16.

17.
18.

19.

20.

. % B W—gﬁﬂwl # 39 o & forg & E @relt SFE W & &Y | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

. T IR Bad OMR TR U6 R 81 3ifdhd &Y | 30 IR &IHYdd 2Afhd T | IR g =g 29d Joidh (ABE Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

LTS T & forg Ry g aR et § 9 3fa fadwer & fw OMR STR 956 W &ad Ud gd @I & T Re Pl ard

wrge 9 9 T Th IR SR 3ifd BT B 971G I dGoll el off bl 8 | (Out of the four alternatives for each question,
only one circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

el gHARad o 6 59 SR 45d B Hiel 9 WY Td I R BIg 3 M9 7 M | 3ngedi =1 gl SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray marks on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT T IR TS HT SAFYED JANT By, Fifd B aRRefT # (ge—gRaer wd SR w96 & wAie 3 e
B! RAT BT BredR) T YT YRAST T ST T8l HYATs WG | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

THA—gRTHT /IR TFF H Y Y HHG BT el el WP A WINER dic H A | (The candidates should write the

correct Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

m@ﬁaﬁﬁmm/m&ﬁmwaﬁ?wqaiﬁaﬁﬁaﬁﬁﬂﬂwaﬁm—w gfad a1 gRfIRad HITST Bl
i, ISR, Hi9sd BIF, Soldci~ih dqmwmﬁﬂﬂmwaﬁﬂmﬁaﬁéﬁnﬁmmﬂaﬂﬁﬁwﬁﬁél
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TfId gRT 8 oM W YIS gl 3T gawr dre ([ o) 3R uga™ ux Wi | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT Tded B A Gquf?f P 77 PIE el JmuFT I |7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

HRIRT TAdETH BT AU IR UAB QU 1 v AR A€ R SEART BRAER [Py 97 angefi uden gfa 7€ v | Ay
el apell 1 A IR EWER A1 W BWER el by A1 g AMI SN {6 S99 IR U3d 8] dlerl & AR I8
JTfad | &1 AT AT STYT | OMR SR U3d § FuiRa o w | anafdial gmr 9 w19 & o &1 foeme
mmélWm%ﬁwwwmmwm%w@ﬁwﬁammmﬁmaﬁ
qEAT 7A@ E|§k"[ AITTH §8d ®H | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagid / gxcarferd URderd &1 SUANT afSid & | (Use of Electronic/Manual Calculator is prohibited.)

e gl § reRer & forg, snaefl faarforer # ) s ufthar / fRen—fcer g 9 & w1 fuEt vd fAfvmE o A9y e <
SH%IH R e IOl e o ) B Re T IR IO ot R ol 1 o | AR 8FTT| (The candidates are governed by

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U DT 3R SR Y=Ib BT I 9T AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W s
W—m P o ST A& €| (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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